Brooklyn Bar and Grill, 397 E James Lee Blvd Crestview, FL 32539, Pulled: 07/12/2024 02:51:37

Settings: Date Range: 06/23/2024 - 07/06/2024 Employee: All Employees Jobs: Default Job Code General Manager Server Host Cook Kitchen Manager Floor Manager Maintenance Dishwasher Busser Bartender Prep Pizza

Data for: 06/23/2024 05:00:00 to 07/07/2024 04:59:59 QR Ordering Pay Rate Total Hours 0.00 Job Title Total \$0.00 Sales: \$4,773.47 **Claimed Tips** \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 \$0.00 Avg Payrate Asble, MacKenzie Job Title Pay Rate Hours Total Prep \$12.50 56.96 \$711.94 Dishwasher \$12.50 7.89 \$98.65 Total 64.85 \$810.59 \$0.00 \$0.00 \$810.59 Sales: \$0.00 **Claimed Tips** Tips: \$0.00 Gratuity Grand Total Avg Payrate \$12.50 Austin, Noah Job Title Pay Rate \$12.00 Hours Total \$271.00 Pizza 22 58 Busser \$12.00 10.71 \$128.51 Total 33.29 \$399.51 \$0.00 \$0.00 \$399.51 Sales: \$0.00 Claimed Tips Tips: \$0.00 Gratuity Grand Total Avg Payrate \$12.00 Bogati, Kaiden Pay Rate \$12.00 Job Title Total Hours \$342.76 Dishwasher 28 56 28.56 \$342.76 Total Sales: \$0.00 **Claimed Tips** \$0.00 \$0.00 Tips: \$0.00 Gratuity Grand Total \$342.76 Avg Payrate \$12.00 Braun, Garrett Total Job Title Pay Rate Hours General Manager \$0.00 67.02 \$0.00 \$14.00 \$181.72 Server 12.98 General Manager - OT \$0.00 33.21 \$0.00 113.21 \$181.72 Total Sales: \$54.06 **Claimed Tips** \$0.00 Tips: \$7.01 \$0.00 Gratuity Grand Total \$188.73 Avg Payrate \$1.67 Buckner, Trevia Job Title Pay Rate Hours Total Total 0.00 \$0.00 Claimed Tips Sales: \$0.00 \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 \$0.00 Avg Payrate Burlison, Rylie Job Title Pay Rate Hours Total \$9.00 **Total** 6.11 **6.11** \$54.98 Bartender \$54.98 \$0.00 Sales: \$468.31 Claimed Tips Tips: \$54.50 Gratuity \$0.00 Grand Total \$109.48 Avg Payrate \$17.92 Cadenhead, Autum Pay Rate Total Job Title Hours \$9.00 \$596.72 Bartender 66.30 Total 66.30 \$596.72 Sales: \$7,060.08 Tips: \$1,387.95 \$700.00 **Claimed Tips** Gratuity \$0.00 Grand Total \$2,684.67 Avg Payrate \$40.49 Colson, Carrie Job Title Pay Rate \$12.00 Hours Total \$250.93 Host 20.91 \$7.31 \$246.50 Cook \$12.00 0.61 Server \$9.00 27.39 48.91 \$504.73 Total Claimed Tips \$0.00 \$0.00 Sales: \$3,401.15 Tips: \$463.03 Gratuity **Grand Total** \$967.76 \$19.79 Avg Payrate Corbin, Madison Pay Rate Total ob Title Hours \$9.00 \$9.00 Server 27.39 \$246.50 Bartender 6 67 \$60.05 34.06 \$306.55 Total **Claimed Tips** \$117.00 Sales: \$3,163.15 Tips: \$501.39 Gratuity \$0.00 Grand Total \$924.94 \$27.16 Avg Payrate Courington, Taylor Job Title Pay Rate Hours Total Server \$9.00 43.83 \$394.51 \$394.51 Total 43.83 ales: \$5,892.47 Claimed Tips \$65.00 Tips: \$819.40 \$0.00 Gratuity

Grand Total

\$1,278.91

	a fia	Avg Payrate		\$29
Florez, S Job Title	Sofie	Pay Rate	Hours	Тс
	Cook	\$12.00	16.98	\$203
		Total	16.98	\$203
	Sales: \$0.00	Claimed Tips		\$0
	Tips: \$0.00	Gratuity Grand Total		\$0 \$203
		Avg Payrate		\$12
Garcia,	Emilly	<b>X</b>		
Job Title	,	Pay Rate	Hours	Te
	Sales: \$0.00	Total Claimed Tips	0.00	\$0 \$0
	Tips: \$0.00	Gratuity		\$0
		Grand Total		\$0
		Avg Payrate		\$0
	ki, Emily	Dev. Dete		-
Job Title	Cook	Pay Rate \$13.00	Hours 5.11	T (
	Dishwasher	\$13.00	5.52	\$71
		Total	10.63	\$138
	Sales: \$0.00	Claimed Tips		\$0
	Tips: \$0.00	Gratuity Grand Total		\$0 \$138
		Avg Payrate		\$13
Holt <i>,</i> M	aci			
Job Title		Pay Rate	Hours	T
	Server	\$9.00	42.18	\$379
	Salaci \$5 271 37	Total Claimed Ting	42.18	\$379
	Sales: \$5,371.27 Tips: \$665.16	Claimed Tips Gratuity		\$50 \$0
		Grand Total		\$1,094
		Avg Payrate		\$25
In-Char	ge, Person			
Job Title		Pay Rate	Hours	Т
	Salaci É0.00	Total Claimed Ting	0.00	\$0
	Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0 \$0
	Tips: 30.00	Grand Total		\$0 \$0
		Avg Payrate		\$0
Jordan.	Jacklyn			
Job Title	•	Pay Rate	Hours	Тс
	Server	\$9.00	24.52	\$220
	Bartender	\$9.00 Total	12.19 <b>36.72</b>	\$109 \$330
	Sales: \$5,168.41	Claimed Tips	30.72	\$15
	Tips: \$793.21	Gratuity		\$0
		Grand Total		\$1,138
Langley	Hoidi	Avg Payrate		\$31
Langley Job Title	, neiui	Pay Rate	Hours	Тс
	Maintenance	\$15.00	18.68	\$280
	Cook	\$15.00	61.32	\$919
	Maintenance - OT	\$22.50 Total	8.72 88.72	\$196 \$1,396
	Sales: \$0.00	Claimed Tips	88.72	\$1,350
	Tips: \$0.00	Gratuity		\$0
		Grand Total		\$1,396
		Avg Payrate		\$15
Langley	, Troy			_
Job Title	Cook	Pay Rate \$13.00	Hours 36.29	To \$471
	COUR	513.00 Total	36.29 36.29	\$471
9	ales: \$0.00	Claimed Tips		\$0
	Tips: \$0.00	Gratuity		\$0
		Grand Total		\$471
Massis	Kandall	Avg Payrate		\$13
Mason, Job Title	Kendall	Pay Rate	Hours	τ.
ob nile	Floor Manager	\$9.00	Hours 6.60	тс \$59
		Total	6.60	\$59
	Sales: \$1,064.51	Claimed Tips		\$0
	Tips: \$151.46	Gratuity Grand Total		\$0 \$210
		Avg Payrate		\$210
	Rvlee			
Mason		Pay Rate	Hours	Тс
Mason, Job Title			75.22	\$676
	Floor Manager	\$9.00		\$0
	•	\$13.50	0.05	
	Floor Manager Floor Manager - OT	\$13.50 Total	0.05 <b>75.27</b>	\$677 \$400
	Floor Manager Floor Manager - OT Sales: \$12,293.56	\$13.50 Total Claimed Tips		\$400
	Floor Manager Floor Manager - OT	\$13.50 Total		\$400 \$0 \$3,233
Job Title	Floor Manager Floor Manager - OT Sales: \$12,293.56 Tips: \$2,155.63	\$13.50 Total Claimed Tips Gratuity		\$400 \$0 \$3,233
Job Title	Floor Manager Floor Manager - OT Sales: \$12,293.56 Tips: \$2,155.63	\$13.50 Total Claimed Tips Gratuity Grand Total		\$400 \$0 \$3,233
Job Title McCallu Job Title	Floor Manager Floor Manager - OT Sales: \$12,293.56 Tips: \$2,155.63 m, Nate	\$13.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	75.27 Hours	\$400 \$0 \$3,233 \$42 T(
Job Title McCallu Job Title	Floor Manager Floor Manager - OT Sales: \$12,293.56 Tips: \$2,155.63 Im, Nate Dishwasher	\$13.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$13.00	75.27 Hours 11.27	\$400 \$0 \$3,233 \$42 To \$146
Job Title McCallu Job Title	Floor Manager Floor Manager - OT Sales: \$12,293.56 Tips: \$2,155.63 m, Nate	\$13.50 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$13.00 \$13.00	<b>Hours</b> 11.27 31.50	\$400 \$0 \$3,233 \$42 Ta \$146 \$409
Job Title McCallu Job Title	Floor Manager Floor Manager - OT Sales: \$12,293.56 Tips: \$2,155.63 Tips: \$2,155.63	\$13.50 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$13.00 \$13.00 Total	75.27 Hours 11.27	\$400 \$0 \$3,233 \$42 Tr \$146 \$409 \$556
Job Title McCallu Job Title	Floor Manager Floor Manager - OT Sales: \$12,293.56 Tips: \$2,155.63 Im, Nate Dishwasher	\$13.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$13.00 \$13.00 Total Claimed Tips Gratuity	<b>Hours</b> 11.27 31.50	\$400 \$0 \$3,233 \$42 Ta \$146 \$409 \$556 \$0 \$0 \$0
Job Title McCallu Job Title	Floor Manager Floor Manager - OT Sales: \$12,293.56 Tips: \$2,155.63 m, Nate Dishwasher Cook Sales: \$0.00	\$13.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$13.00 \$13.00 Total Claimed Tips Gratuity Grand Total	<b>Hours</b> 11.27 31.50	\$400 \$0 \$3,233 \$42 74 \$146 \$409 \$556 \$0 \$0 \$556
Job Title McCallu Job Title	Floor Manager Floor Manager - OT Sales: \$12,293.56 Tips: \$2,155.63 m, Nate Dishwasher Cook Sales: \$0.00	\$13.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$13.00 \$13.00 Total Claimed Tips Gratuity	<b>Hours</b> 11.27 31.50	\$400 \$0 \$3,233 \$42 To \$146 \$409 \$556 \$0

Kitchen Ma	nager		\$14	4.00	75.50	\$1,057.06
					75.50	\$1,057.06
Sales: \$0 Tips: \$0			Claimed Grat			\$0.00 \$0.00
11031.00			Grand T			\$1,057.06
			Avg Pay	rate		\$14.00
Moore, James			Day D	***	Hours	Total
Dishwashe	r		Pay Ra \$12.		Hours 30.16	Total \$361.89
Calaa do oo				tal	30.16	\$361.89
Sales: \$0.00 Tips: \$0.00			Claimed Ti Gratu			\$0.00 \$0.00
			Grand To	tal		\$361.89
			Avg Payra	ite		\$12.00
Payne, Kara			Pay Rat	te I	Hours	Total
Cook			\$13.0	0	21.96	\$285.43
Sales: \$0.00			Tota Claimed Tip		21.96	\$285.43 \$0.00
Tips: \$0.00			Gratuit			\$0.00
			Grand Tot			\$285.43 \$13.00
Powers, Ashley			Avg Payrat	le		\$15.00
Job Title			Pay Ra	ate	Hours	Total
Host			\$12.	00	9.20	\$110.40
Dishwashe Busser	r		\$12. \$12.		4.03 11.33	\$48.39 \$136.01
Bussel			To		24.57	\$294.80
Sales: \$0.00 Tips: \$0.00	) 		Claimed Ti			\$0.00 \$0.00
Tips: \$0.00			Gratu Grand To			\$0.00 \$294.80
			Avg Payra			\$12.00
Raiche, Thomas						
Job Title Prep			Pay Rat \$13.0		Hours 49.74	Total \$646.68
Pizza			\$13.0	0	0.00	\$0.03
Sales: \$0.00			Tota Claimed Tip		49.75	\$646.71 \$0.00
Tips: \$0.00			Gratuit			\$0.00
•			Grand Tot			\$646.71
Compon Coulos			Avg Payrat	e		\$13.00
Sampson, Caylee			Pav	Rate	Hours	Total
Bartend	er			\$9.00	15.11	\$135.95
Sales: \$1,91	0.72		Claimed	Total	15.11	\$135.95 \$50.00
Tips: \$367				ituity		\$0.00
•			Grand			\$553.27
Schuctor Aidon			Avg Pa	yrate		\$36.63
Schuster, Aidan			Pay Ra	ate	Hours	Total
Dishwashe	r		\$13.	00	8.25	\$107.31
Cook			\$13. <b>To</b>		5.96 14.21	\$77.42 \$184.72
Sales: \$0.00	)		Claimed T			\$0.00
Tips: \$0.00			Gratu Grand To			\$0.00 \$184.72
			Avg Payra			\$13.00
Schuster, Daniel						
Job Title			Р	ay Rate	Hours	Total
Sales: \$388	3.39		Claim	Total red Tips	0.00	\$0.00 \$0.00
Tips: \$51.			0	Gratuity		\$0.00
				nd Total Payrate		\$51.09 \$0.00
White, Brandon			Avg			<del>,</del> 0.00
Job Title			Pay Ra		Hours	Total
Cook Busser			\$12. \$12.		4.92	\$59.03
Dishwashe	r		\$12. \$12.		8.18 11.69	\$98.16 \$140.27
			То	tal	24.79	\$297.46
Sales: \$0.00 Tips: \$0.00			Claimed Ti Gratu			\$0.00 \$0.00
			Grand To	tal		\$297.46
Varia Dist. I			Avg Payra	ite		\$12.00
York, Blakely			Pay Rat	te i	Hours	Total
Server			\$9.0	0	1.02	\$9.17
Host			\$12.0 <b>Tot</b> a		14.03 <b>15.05</b>	\$168.35 \$177.52
Sales: \$0.00			Claimed Tip		13.03	\$177.52
Tips: \$0.00			Gratuit	ty		\$0.00
			Grand Tota Avg Payrat			\$177.52 \$11.80
		Sumn				+11.00
Job Code	Total Hours		OT Hours		Regular Pay	OT Pay
Prep Dishwasher	106.70 107.37	106.70 107.37	0.00	\$1,358.6 \$1,317.4		\$0.00 \$0.00
Pizza	22.59	22.59	0.00	\$271.03	\$271.03	\$0.00
Busser General Manager	30.22 100.23	30.22 67.02	0.00 33.21	\$362.68 \$0.00	\$362.68 \$0.00	\$0.00 \$0.00
Server	179.31	179.31	0.00	\$0.00		\$0.00
Bartender	106.38	106.38	0.00	\$957.45	\$957.45	\$0.00
Host Cook	44.14 184.64	44.14 184.64	0.00 0.00	\$529.69 \$2,500.4		\$0.00 \$0.00
Maintenance	27.40	18.68	8.72	\$476.32	\$280.20	\$196.11
Floor Manager	81.87	81.82	0.05	\$737.01	\$736.37	\$0.65

Kitchen Manager	75.50	75.50	0.00	\$1,057.06	\$1,057.06	\$0.00
TOTALS	1,066.35	1,024.38	41.97	\$11,246.48	\$11,049.72	\$196.76